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PCA: Aux. data
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PCA: Labels
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Density

Histogram: Aux. data
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Histogram: Labels
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birth 1 estimate

Train estimates: birth_1
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birth 2 estimate

Train estimates: birth_2
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death estimate

Train estimates: death
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state rate estimate

Train estimates: state_rate
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birth_1 estimate

Test estimates: birth_1
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birth_2 estimate

Test estimates: birth_2
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death estimate

Test estimates: death
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Test estimates: state_rate
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Metrics
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Training history: entire network
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Metrics

Training history: param_lower
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input_phylo | input:

[(None, 500, 4)]

InputLayer | output:

[(None, 500, 4)]

—

\

conv_stdl | imput: | (None, 500, 4) conv_stridel | input: | (None, 500, 4) conv_dilatel | input: | (None, 500, 4) input aux | input: | [(None, 17)]
ConvlD | output: | (None, 500, 64) ConvlD output: | (None, 167, 64) ConvlD output: [ (None, 500, 32) InputLayer | output: | [(None, 17)]
conv_std2 | imput: | (None, 500, 64) conv_stride2 | iput: | (None, 167, 64) conv_dilate2 | mput: | (None, 500, 32) ff auxl | input: | (None, 17)
ConvlD | output: | (None, 500, 96) ConvlD output: | (None, 28, 96) ConvlD output: | (None, 500, 64) Dense | output: | (None, 128)
conv std3 | input: | (None, 500, 96) pool stride input: | (None, 28, 96) ff aux2 | input: | (None, 128)
ConvlD | output: | (None, 500, 128) GlobalAveragePoolingl D | output: (None, 96) Dense | output: | (None, 64)
pool std input: | (None, 500, 128) pool dilate input: | (None, 500, 64) ff aux3 | input: | (None, 64)
GlobalAveragePoolingl D | output: (None, 128) GlobalAveragePoolingl D | output: (None, 64) Dense | output: | (None, 32)
concat out | input: | [(None, 128), (None, 96), (None, 64), (None, 32)]
Concatenate | output: (None, 320)
ff valuel | input: | (None, 320) ff lowerl | mput: | (None, 320) ff upperl | mput: | (None, 320)
Dense output: | (None, 128) Dense output: | (None, 128) Dense output: | (None, 128)
ff value2 | input: | (None, 128) ff lower2 | input: | (None, 128) ff upper2 | input: | (None, 128)
Dense output: | (None, 64) Dense output: | (None, 64) Dense output: | (None, 64)
ff value3 | input: | (None, 64) ff lower3 | input: | (None, 64) ff upper3 | mput: | (None, 64)
Dense output: | (None, 32) Dense output: | (None, 32) Dense output: | (None, 32)
param_value | input: | (None, 32) param_lower | input: | (None, 32) param_upper | input: | (None, 32)
Dense output: | (None, 4) Dense output: | (None, 4) Dense output: | (None, 4)




